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SECTION-A
i) General Awareness

Holy town Badrinath is situated in
(A) Uttarakhand

(B) Bihar

(C) Gujarat

(D) None of the above

Konark Sun temple is situated in
(A) Odisha

(B) Guijarat

(C) Tamil Nadu

(D) None of the above

World Forestry Day is celebrated every
year on

(A) November 3™

(B) March 21t

(C) September 22nd

(D) None of the above

Blue Revolution or Neel Kranti is

related to

(A) AguacultureorFisheriesdevelopment
in the country

(B) Sericulture development in the
country

(C) Cereal crops development in the
country

(D) None of the above

Maitree and Bandhan Express trains
runs between

(A) China and India

(B) Nepal and India

(C) Bangladesh and India

(D) None of the above

6.

10.

In India the House of the People also
called as

(A) Lok Sabha

(B) Rajya Sabha

(C) Rashtrapathi Bhavan

(D) None of the above

Who was also popularly known as
“Grand old man of Indian cricket” ?

(A) Dinkar Balwant Deodhar

(B) Vijay Hazare

(C) Mansoor Ali Khan Pataudi

(D) None of the above

What is the speciality of Coradia iLint

train which was rolled out recently in

Germany ?

(A) World's first hydrogen-powered
train

(B) World's first nuclear-powered train

(C) World's first fully solar-powered
train

(D) None of the above

During summer solstice the Northern
Hemisphere witness its

(A) Longest day of the year

(B) Shortest day of the year

(C) Equal day and night

(D) None of the above

Which of the following trench is the
deepest part of the Earth’s ocean ?
(A) South Sandwich Trench

(B) The Mariana Trench

(C) The Diamantina Trench

(D) None of the above
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11.

12.

13.

14,

15.

Olympics 2020 will be held at
(A) New Delhi, India

(B) Tokyo, Japan

(C) Beijing, China

(D) None of the above

The book “Born Again on the Mountain”
is written by

(A) Tenzing Norgay

(B) Bachendri Pal

(C) Arunima Sinha

(D) None of the above

The book “My Journey” is written by
(A) A.P.J. Abdul Kalam

(B) Mahatma Gandhiji

(C) Aravind Adiga

(D) None of the above

The Kalinga Prize for the popularization
of Science given by

(A) WHO

(B) UNICEF

(C) UNESCO

(D) None of the above

Which of the following statement/s given
below is/are true about Gandhi Peace
Awarded by Government of India ?

a. This annual award is given to
individuals, associations, institutions
or organizations who have worked
selflessly for peace, non-violence.

b. The award is open to all persons
regardless of nationality, race,
language, caste, creed or gender.

(A) Only (a) is true

(B) Only (b) is true

(C) Both (a) and (b) are true
(D) None of the above

16.

17.

18.

19.

20.

Who among the following Indian
Journalists recently received the
Prestigious Ramon Magsaysay Award
20197

(A) Arnab Goswami

(B) Ravish Kumar

(C) Rajdeep Sardesai

(D) None of the above

The Pulitzer Prizes honors

(A) Excellence in the field of journalism
and arts

Excellence in the field of science

Excellence in the field of space
science

None of the above

(B)
(©)

(D)

Nobel Prize 2019 in Physics awarded
to the three scientists for their work on
(A) Cosmology

(B) Light pollution

(C) Quantum mechanics

(D) None of the above

Which one of the following Indian films
made official entry to Oscars 2020 from
India ?

(A) Kurukshetra (Kannada)

(B) Gully Boy (Hindi)

(C) Uyare (Malayalam)

(D) None of the above

Which of the following organization
given below is the three times recipient
of “Nobel Peace Prize” ?

(A) Red Cross

(B) UNICEF

(C) ICAN

(D) None of the above
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21.

22.

23.

24,

25.
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ii) General Intelligence and Reasoning Ability

Rama travels 10 km North turns left and
travels 4 km and then again turns right
and covers another 5 km. He then turns
to right and travels another 4 km. How
far is he from the point of starting his
journey ?

(A) 15km
(C) 5km

(B) 4km
(D) 10km

Introducing Amrita, Raj said, “Her
mother is the only daughter of my
mother-in-law”. How is Raj related to
Amrita ?
(A) Husband
(C) Wife

(B) Father
(D) Uncle

A woman said to a man, “The daughter
of your only sister is the sister of my
husband”. What is the relation of man’s
sister to the woman ?

(A) Mother

(B) Mother-in-law

(C) Data inadequate

(D) None of these

First day of a leap year is Wednesday,
then what day of the week was it on
318! December in that year ?

(A) Thursday (B) Saturday
(C) Monday (D) Friday

The ages of A and B are in the ratio
5 : 7. Four years from now the ratio of
their ages will be 3 : 4, then the present
ageof Ais

(A) 25years

(B) 20 years

(C) 35years

(D) none of these

26.

27.

28.

29.

30.

5 friends are sitting on a bench. A is to
the left of B but on the right of C. D is to
the right of B, but on the left of E. Who
are at the extremes ?

(A) A, B (B) A, D

(C) B,D (D) C,E

Pointing to a lady a man said, “The son
of her only brother is the brother of my
wife”. How is the lady related to the man ?
(A) Mother's sister

(B) Grandmother

(C) Mother-in-law

(D) Sister of father-in-law

A, B, C and D are playing cards. A and
C and B and D are partners. D is to the
rightof C. The face of C is towards West.
Find the direction that D is facing.

(A) West (B) East
(C) South (D) North

In a certain code language ‘PUT’ is
written as ‘57’ then how will ‘BAT' be
written in that language ?
(A) 25 (B) 60
(C) 55 (D) 28

5gifs A, R, D, S and V are siiting around
a pentagonal table. A is between R and D.
S is to the left of V. R is to the left of S.
Who is to the right of A ?
(A) S (B) D
(C) R (D) V
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31.

32.

33.

36.

Rajesh is the brother of Ankit. Shano
is the sister of Shubham. Ankit is the
son of Shano. How is Rajesh related to
Shano ?

(A) Father
(C) Son

(B) Brother
(D) Nephew

Five boys A, B, C, D and E are sitting
in a row. A is to the right of B and E
is to the left of B, but to the right of C.
Ais to the left of D. Who is second from
the left end ?
(A) D

(C) E

B) A
(D) B

if P $ Q means ‘P is the father of Q',
P # Q means ‘P is the mother of Q'.
P * Q means ‘P is the sister of Q', then,
howis QrelatedtoNINnN#L$P+Q ?

(A) Grandson
(B) Granddaughter
(C) Nephew
(D) Data inadequate

Find the odd word from the given
alternatives.

(A) Bigger
(C) Greater

(B) Faster
(D) Taller

Find the odd one out.
(A) Webcam

(B) Speaker

(C) Digital Camera
(D) Smartphone

The probability of getting a head when
a fair coin is tossed is
1
(A) — (B8) 1
; 3
=
(C) 0 (D) 2

37.

38.

Which of the following diagrams
represents a relationship between
players and footballers ?

0 /X 8OO
X WA

LN

Ifin a certain language ‘NAME' is written
as 'OYPA’, then how will ‘TEAM' be
coded in that language ?

(A) UCDI (B) UCID
(C) uICD (D) uDCl

(C)

By taking the given statements are true you
have to decide which of conclusions always
follow ?

39.

40.

Statements : Some rings are coins.
No coin is brown.

Conclusions : |. Some rings are brown.
Il. Some coins are rings.

(A) Only | follows

(B) Only conclusion Il follows

(C) Neither I nor Ii follows

(D) Both conclusions | and II follow

Statements : Only crows are birds.
No cake is a bird.

Conclusions : |. Some crows are not

cake.
Il. Some cake are not

Crows.

(A) Only | follows

(B) Only Il follows

(C) Neither | nor Il follows

(D) Both I and Il follow
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41.

42.

43.

45,

iii) Arithmetical and Numerical Ability

A fraction becomes 1, when 1 is

subtracted from the number and it
1

becomes 2 when 8 is added to its

denominator. Then the fraction is

® = ® T
4 7
© O g

In AABC, |[C=3B=2(|A+|B)then
Bis

(A) 20°
(C) 120°

(B) 40°
(D) 60°

Which of the following represents a
quadratic equation ?

(A) x=1)(x+2)=(x—3) (x+1)

(B) (x +2)%=4(x +3)

(C) (x+3y2=3(x—1)?

(D) (x=1)(x+1)=x2

If the discriminant of the equation

6x2 — bx + 2 = 0 is 1, then values of b
are

(A) £7
(B) £6
(C) +1

(D) None of these

A quadratic polynomial whose one zero
is 6 and sum of the zeroes is 0, is

(A) x2+36 (B) x*-6
(C) x2-36 (D) x2-3

46.

47.

48.

49.

50.

51.

If the equations ax + by + ¢ = 0 and
dx + ey + ¢ = 0 represent the same
straight line, then
(A) ac=ad
(C) ac=bd

(B) ad=bc
(D) ab=dc

Which of the following n'" term forms
an AP ?

(A) t,=3n-2

(B) t,=2n%+1

(C) t,=4n%+3

(D) t,=9-11n?

How many terms are there in the
sequence 3, 6, 9, 12,...,111 ?

(A) 37 (B) 38

(C) 39 (D) 40

It n' term of an AP is 3 + 2n , what will
be the sum of first 24 terms ?

(A) 51 (B) 1081

(C) 672 (D) 2023

In the following find the missing term.

2,126
(A) 13
(C) 14

(B) 12
(D) 11
Two AP’'s have the same common
difference. The difference between their

100" term is 100. What is the difference
between their 1000 terms ?

(A) 1000 (B) 100
(C) 10 (D) O
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dx + ey + ¢ = 0 99H Hift 1@ = Wi
|

(A) ac=ad (B) ad=be

(C) ac=bd (D) ab=dc
Frfefaa o e nal 92 ek gaie Sofi
FEIAR ?

(A) t,=3n-2

(B) t.=2n%+1
(C) t,=4n%+3
(D) t,=9-11n?

Sf@en 3,6,9,12,.., 111 A fFaa @ ¥ 2

(A) 37 (B) 38

(C) 39 (D) 40

Ifg fret amier Aoff 1 naf 92 3+ 2n B,
A 99 24 a1 1 T fehen 2 2

(A) 51 (B) 1081

(C) 672 (D) 2023
FrefefRaa 9 @reft 9 == = ?
2,126

(A) 13 (B) 12

(C) 14 (D) 11

31 THTGL Al 1 ST 3 UF GEE 2 |
37 39% 1009 U8 1 37T 100 B, 91 39

1000 = 98 1 37ar faae 2 ?
(A) 1000 (B) 100
(C) 10 (D) 0
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52.

53.

56.

56.
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Common difference of the AP
S 170 3220 i
P P p

(A) -p
(C) 2

(B) p
(D) -1
To find the popular size of a readymade

garments, which central tendency is
used ?

(A) Mean
(B) Median
(C) Mode
(D) None of these

The mean weight of 9 students is 25 kg. If
one more student is added to the group
then mean is unaltered. Weight of the
10" student is

(A) 25kg
(B) 24 kg
(C) 26kg
(D) 23 kg
If 22"d term of an AP is 149 and common

difference (d) is 7, then the sum of first
22 terms is

(A) 100
(C) 1550

(B) 1661
(D) none of these

How many 3 letter words can be formed
using only consonants using each letter
once ?

(A) 7890
(B) 7980
(C) 7089
(D) 7098

57.

58.

59.

60.

0 0 00O 00 O O

A girl of height 90 cm is walking away
from the base of a lamp post at a speed
of 1.2 m/s. If the lamp post is 3.6 m
above the ground, the length of her
shadow after 4 seconds is

(A) 6.1m

(B) 1.6m

(C) 1m

(D) none of these

The number of arrangements of the
letters of the word ENGINEERING that
begin with E and end with E

(A) 13,442
(B) 12,829
(C) 14,451
(D) 15,120

In how many ways can 7 persons be
seated in a row if two persons always
occupy end seats ?

(A) 250

(B) 230

(C) 220

(D) 240

If 2 triangles ABC and DEF are similar
and their areas are respectively 64 cm?
and 121 cm?, EF = 15.4 then BC =

(A) 11em

(B) 11.2¢cm

(C) 5.6cm

(D) none of these
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52.

83.

54.

55.

56.

Wauﬁl‘ljl‘kﬁ_"_
PP p’ P

= G I a2 ?

(A) -p B) p

(C) 2 (D) -1

et s 99 & Ag TR H
qrEET % fore e e wafer = 3w
T ST 2 7

(A) TETHE

(B) wiferart

(C) HrE

(D) 378 | %1 e

9 BT %1 37Ed Foi 25 TRt 2 | Il e
T U 3B & Sire foan s at sfed |
13 IiadH el BT 8 | 109 BT % a5
g 7

(A) 25 Tt

(B) 24 foe

(C) 26 fFat

(D) 23 feret

T2 veh g Avfta 2291 149 st wfis
3t (d) 7 8, AT 9o 22 R Am B

(A) 100 (B) 1661

(C) 1550 (D) z4 & =rd 7E
At TSI o SIS AU oh1 SUET A g2 3
&R AT Toha 3763 ST 511 Fhd & STaieh
T AR 1 STFNT T € SR 2 7

(A) 7890

(B) 7980

(C) 7089

(D) 7098

57.

58.

59.

60.
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90 &t waE ! U wigh! UH oY U °
1.2 #1/8 Fi 1 | S AR Fd B AR
oo SR A 36 W FW R, @ 4 ¥F
WTE 3Geh! BT I TS 941 Bt 7

(A) 6.1

(B) 1.6

(C) 17

(D) w7 & 1S T

ENGINEERING 3753 % 31&R] ol JHeaa e
0 feh IT68 SHTC ST el & e &
AR EAER 7

(A) 13,442

(B) 12,829

(C) 14,451

(D) 15,120

7 SAfFadi 1 T Gfad A fohad 9HR °
ToraTen < e @ aTfes a1 safFaai i g
3iferm v firet ?

(A) 250

(B) 230

(C) 220

(D) 240

7f% 2 fiys ABC 3R DEF ¥9F 2 3R 39
FTF FUW: 64 TH2 o 121 T2 2,
EF =154 @1 BC =

(A) 11 @t
(B) 11.2%
(C) 5.69t
(D) 379 & Fr§ T
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61.

62.

63.
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iv) Hindi Language and Comprehension

&t s s Ay

ffoRaa § 3 a1 v Ba-Ree & 7
(A)

(B) Ffewm

(C) Hr=

(D) &

U R el § g4 2 R | TEiiehd w1
FF 2

(A) TIEH FF

(B) AT FF

(C) e FF

(D) = FRF

e Fifsw |
a) Wi
b) WU
c) HaEg

1) fagwm

i) syeziarE qarg
) =HHYTE gHE

d) ergsh

V) =gsife s
a b c d

A v
@ 1w
© m n v oI
@ v onm

JIOR 9y T4 aTet a1 1 31§ AT w1l
F U F FadE |

(A) GHE

(B) @fy

(C) T

(D) ferraor

65.

66.

67.

68.

69.

SATEA HT v -Taeae 2

(A) A +B+F+AT++H
B) A+ +B+q+ATM+A+ A
(C) H+Z+HAT+F+9+H
(D) 3+ &+ +7 + 3

W@ F @A | TWifd Yea] % R ¥
ud e 2

(A) HYEH FRF

(B) &FH FF

(C) Fal wiF

(D) H&Y FH

Siera F1 98 wiy-faese
(A) &+ a7a
(B) i@ + 3714
(C) @i + 3@
(D) deri + 4

wefAiaeegfe,@a_ &
T MR |

(A) ITEEHE F an

(B) @ & am

(C) S=raie

(D) =redi = =3

T T FHET TE S THE I R 7
(A) TcgEY (B) F=HTIE
(C) % (D) FHarA



70.

71.

72.

73.

74.

75.

76.
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21 3T Grer TR YR B ® 7

(A) GHaftiH (B) THHTEF

(C) Zummy= (D) fawm wify=
T e o weal F I SEa © ¢

(A) & (B) waaH

(C) fargrmr (D) T
tﬁaqmmﬁ e e A e

(A) T2 (B) T=
(C) = (D) &
ol <t T T R

(A) 6 (B) 8
(C) 10 (D) 12
HYETEYE T F AN B I AIF
BT

(A) ot form

(B) 7% fom

(C) %9 form

(D) =Afem

o= 8 @ werm saft i R
(A) = (B) =
C) & (D) &

FIA-IT’ IE-FH & el 49T
=7 Hife |

(A) SreT-F8e

(B) ZH9li-urt

(C) ars-aui

(D) FHE-SaT

77.

78.

79.

80.
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VTG g feet 3T | ST T - HE §
(A) wferase

(B) Hgict

(C) TaHTHA

(D) 0 S

o 3158 | I9EA1 = WA g © 7
(A) S9HR

(B) THEEF

(C) AT

(D) EHEHER

firerm Shifsrg |
a) JYEHY
b) WH-g9I
c) Gauf~ia

A IV 01
® 1 W v
© N v o

@ W nw

il 3 g dt feer- wdia e 2 m
el & ISTET I8 PIH-HT AHR el ¢ 7
(A) @

(B) =aTSTEgfe

(C) wafEF

(D) Fehifad
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v) English Language and Comprehension

FIST | SR

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

81. They are out to disgrace his name.
(A) Dishonor
(B) Reject
(C) Transform
(D) Disown

82. It was a fragile, inflammable shop.

(A) Strong

(B) Crowded
(C) Vulnerable
(D) Deserted

Fill in the blanks in the following sentences
using the appropriate antonyms of the word
underlined.

83. Many promptly claimed their photos, but
some remained in the shop

(A) Unclaimed
(B) Disclaimed
(C) Misclaimed
(D) None of these

The customer was satisfied unlike Ram
who remained

(A) Missatisfied
(B) Unsatisfied
(C) Dissatisfied
(D) None of these

16~

Fill in the blanks in the following sentences
using the appropriate forms of the words given
in brackets.

85. The seems too severe
for his mistake. (punish)
(A) punish
(B) punishment
(C) punished
(D) punishable

86. He stared at the (disastrous) at
his feet.
(A) Disaster

(C) Disastrous

(B) Disastering
(D) Disastered

Give one word substitutes for the following
from among the choices given below them.

87. Another of the same.
(A) Ditto (B) Maelstrom
(C) Banal (D) None of these

88. Comprehending a wide variety of
information.
(A) Judicious

(C) Trombone

(B) Encyclopedic
(D) Primeval

Fill in the blanks in the following sentences with
the appropriate words from the alternatives
given below them.

89. He would not stint where this great
was concerned.

(A) Soul (B) Sole
(C) Soal (D) Saul
90. It will seventeen rupees.
(A) Coast (B) Cost
(C) Caust (D) None of these



Fill in the blanks with suitable articles from the
alternatives given below them.

91. Why don’t you wear dress
| gifted you last Christmas ?
(A) a (B) an
(C) the (D) of

92. Who has keys to this lock ?
(A) a
(B) an
(C) the

(D) no article required

Fill in the blanks with appropriate prepositions
from the alternatives given below them.

93. Who would like to pose to the
tiger ?

(A) onto

(B) near

(C) next

(D) ahead

94, Xander is the man stubble.
(A) of

(B) with

(C) at

(D) through

Add suitable question tags to the following
statements from among the alternatives given
below them.

95. We shall contribute generously,  ?
(A) shall we
(B) shan'twe
(C) dowe
(D) don't we

=17-
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96. Raveen isn't courageous, ?
(A) isn't he
(B) is he
(C) does he
(D) has he

Choose the best way to complete the sentences
below.

| told him

(A) What the homework was

(B) What was the homework

(C) What was to be the homework
(D) What is the homework

97.

| didn’t know

(A) What he mean

(B) What did he mean
(C) What did he meant
(D) What he meant

98.

Find out the wrongly spelt word from the
alternatives given in each options.

99. (A)
(B)
(C)

(D)

Exempleary
Embarrass
Envious
Excellence

100. Efficient

Reticent

(A)
(B)
(©)
(D)

Magnificient
Deficient
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SECTION-B
Post Specific Subject-Related Questions

101. is considered as the fourth- | 106. Whatisthe graphic symbolrepresentation
arm of the defence forces. of fire extinguisher ?
(A) A{r .Force (A) Square background red symbol
(B) Civil Defence e
(C) Navy ‘
(D) Army (B) Square background white symbol
red
102. IS specification for emergency lighting (C) Round sign background white
units is symbol red
(A) 1S 580: 1985 .
D) Triangular background red bol
(B) IS 005 : 1985 () o g =
(C) 1S 9583 : 1981 wiie
D) 1S 084: 1985
() 107. What is the full form of ISI ?
103. All the UXBs (Unexploded Bombs) can (A) Import Standards Institution
be termed as (B) International Standards Institution
(gi 1I\fuclt-:-te:r (C) Indian Standards Institution
( ime bombs .
(C) Atom (D) Indian Standards Imports
i HEcledt NeabuIls 108. is also called a ‘self-rescue
104. One Corpse Disposal Squad of six men knot', used to get down from the top
is provided for a population of floor to ground floor.
(A) 50000 (A) Clove hitch
(g) 200200 (B) Timber hitch
(C) 100 )
(D) 25000 (C) Rope hitch
(D) Draw hitch
105. is the lowest temperature
at which substance will ignite | 109. Atthe local level in a district, the
spontaneously or by itself without any is responsible for the Civil Defence.
external source of ignition. A Hoadtiaito
(A) Fire point (A) Headqua rs
(B) Auto ignition temperature (B) Defence Minister
(C) Flash point (C) District Magistrate
(D) Spontaneous fire (D) Ministry of Home Affairs
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101.

102.

103.

104.

105.
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ST 1 UTftheh Heha SRTcreRol 3T
& 7

(A) =t g3vfh et Teha e

(B) =i s34l wihe Hehd wTed

WA -a

U wfafes v - gt gva
1 T aTe o1 A1 g e | 106.

SR |

(A) =g &1

(B) AT T8I

(C) & &

(D) o&1 &

STIEHTEATS Wohre $1S 2q IS ffdseand 2
(A) 1S 580: 1985
(B) 1S 005 : 1985
(C) 1S 9583 : 1981
(D) IS 084 : 1985

Tt UXB (o Faepreguam)
F2 I T 2 |

(A) TR

(B) 2wHATH

(C) wwg
(D) ARy Bfemm

U T SAfEaA w5 Fid feeiee w="iE
& S % fou Suesy

ST ST 2 |

(A) 50000

(B) 200000

(C) 1000

(D) 25000

_ FEgAeaaEH e w
arel Jepraes Y T et e ysaeH
Al & Tsaterd & S |

(A) i foig
(B) =: YSaod Al9H=
(C) == foig
(D) TEs A

107.

108.

109.

(C) et Fome Tsavfh ke Weha ol
(D) Tepivfia g2y Eret Hehd T9ha

IS| #1 AR T TR 7

(A) 3HIE WeeH TITIH
(B) FIYHA LegH TRITIIH
(C) 3feam Hegd T
(D) 3fez Weed e

= TRE S o e e Sryiae
Y e R A o oTu S 2l & |
(A) w9 fea
(B) fomm fe=
() tufe=
(D) 31 &

e e ® s ' W,
TR 18T % foru Suter 2 |
(A) FEaTe

(B) et Wit
(GRERITIE

(D) TR HATEE



MKG-XXXI/TECHDSO/1T/05

110.

111,

112.

113.

114.

What is the method is not used for
protection against effects of High
Explosive bomb ?

(A) Trenches

(B) Refuse room

(C) Shelters

(D) Stand in the open

A nuclear weapon which releases a very
high amount of energy through ‘fission’
process

(A) Hydrogen Bomb

(B) Atom Bomb

(C) Thermonuclear Bomb

(D) None of the above

Which of the following is not a type of
foam extinguishing system ?

(A) Low expansion foam system

(B) Medium expansion foam system
(C) Neutral expansion foam system
(D) High expansion foam system

It is recognised with its dark red colour
and steady flow

(A) Venous bleeding

(B) Internal bleeding

(C) Arterial bleeding

(D) Capillary bleeding

Which among the following is not an
essential required for a refuse room ?
(A) It should be on the top floor

(B) It should not face towards an open
place or streets

The walls and roof should be much
strong to withstand bomb effects
Water, candles, radio, first aid
equipment, fire-fighting equipment,
torch light

(C)

(D)

1185.

116.

117.

118.

119.

Which of the following is false in relation
to protection against Air Raids under
different circumstances ?

(A) Keep a roll of handkerchief or
cloth between your teeth (jaws) to
protect tongue

Keep your chest slightly above the
ground and rest on elbows

Run for cover if there is no time
Never look up until ‘All Clear’ signal
is given

(B)

(C)
(D)

The Class K fire is defined as a
(A) Kerosene fire (B) Kitchen fire
(C) Electrical fire (D) Gas fire

Air raids with the High Explosive bombs
and Incendiary bombs are the methods
of attack in the

(A) Nuclear warfare

(B) Conventional warfare

(C) Biological warfare

(D) Psychological warfare

The mechanism of creating pressure
in the extinguishers can be broadly
classified as
(A) High pressure and low pressure
operated
Cylinder pressure and hydraulic
operated
Stored pressure and cartridge
operated
Manual operated and automatic
operated

(B)
(©)
(D)
A particular area or activity in which a
danger of fire can occur

(A) Risk (B) Precaution
(C) Hazard (D) Accident
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110.

111.

112.

113.

114,
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3= fawie =9 = gl & e 18 2
WF 7 81 areht fafa g ?

(A) @eF

(B) wromeft e

(C) ==

(D) Gt H @eT B

us AR gfvEn s fages uiEa &
HISAH § 3Tedd 379 U1 § S ol 8
(A) BIZSISH =9

(B) T SH

(C) FHAWFE 59

(D) 390 | ¥ 18 7

frafafga ¥ @ F9-91 & 70 e
ot ST TR AE B 7

(A) T famoor gmr ot

(B) wey feremeor vt womett

(C) Jaret fawror ZvT yomett

(D) == Toreamor = womedt

T TEL o T 3R e sEE @ vEEE
ST 8

(A) T mEE

(B) HTafieh o

(C) =g wEmE

(D) HTH TEE

Fr=fafaa § @ -1 v sromefi F2a F

o sEEE s A aifBa Td 8 ¢

(A) T2 3 ae1 9 BT A1fEe

(B) 36 9@ Gel ¥UH I1 e i Tk
TE 2T =Tfee

(C) ZaRT 3R Bl =l 51 F THE! N I
9 S Heied 21 =91

(D) &=, Hmewt, e, s 3=
Iya, AfEUHt 3T, 2 SR

115.

116.

117.

118.

119.
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fafirr aftfefo o awg o e gen =

Ty 1 Feforfiaa 3 8 FF-a1 s 2 7

(A) Sfra =l 1en % e et (Serei) F o=
ek BHTE I AT 1 FH9ST TE1

(B) BTt 1 4 & drer FW W@ 3R
it o e

(C) 3trerwr & e dremn afg wma = 2

(D) & O G Bk ¥ 1 Teha A oA,
TR F AR TE @

FiKkam  FErdofvfa®
(A) ¥ A= (B) @i #fE
() FT@afm (D) T aIfH

I3 fawres 9 iR fEFns a9 T
g B T ammEe i fafRET E |
(A) T g4

(B) W9 g%

(©) SuT=

(D) TR T3

T | geTd a1 F o Tt ged B9 8
% Fffera 1 <1 wehelt 2 |

(A) e 3= g o fe g

(B) whenfera faeist g i sa=nfera

(C) uftanfera weifta o ot FRRs

(D) &= ufanfera i & yinfera

us a5 fasm ar nfafaty fasw fes s
1 Tl B Fehdl &
(A) wifam
(C) @au

(B) Hra4w
(D) He
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120.

121.

122.

123.

124.

125.

-22.

There are kinds of warfare.
(A) seven

(B) five

(C) nine

(D) eight

PASS technique is used for effective
application of the fire extinguishers.
PASS stands for

(A) Pick, Aim, Search, Solve

(B) Pause, Aim, Strike, Spray

(C) Pick, Aid, Strike, Spray

(D) Pull, Aim, Squeeze, Sweep

The respiration rate in a year old child is
(A) 16 per minute
(B) 20 per minute
(C) 30 per minute
(D) 18 per minute

Which among the following is flammable ?
(A) CO, (B) CH,
(C) SO, (D) N,

The stored pressure water extinguisher
is filled with water and dry air pressurised

upto bars.
(A) 120 (B) 50
(C) 10 (D) 100

The standard pulse rate in an adult
ranges from

(A) 551065

(B) 85t095

(C) 70to 80

(D) S0to 100

126.

127.

128.

129.

130.

If the temperature rating of bulb type
sprinkler head is 57°C then the colour
of bulb is

(A) Blue

(B) Yellow
(C) Orange
(D) White

In , the skin is burnt completely
and internal organs like nerves, muscles
and bones are charred.

(A) First degree burn
(B) Third degree burn
(C) Fourth degree burn
(D) Second degree bumn

Which of the following is not a part of a
fire extinguisher ?

(A) Safety Pin

(B) Hose/Nozzle

(C) Handle

(D) Deflector Plate

What is the Freezing point of water ?
(A) 100°C

(B) —100°C

(C) 0°C

(D) -10°C

IS Specification for First Aid hose reel
for fire fighting is

(A) 1S580:1985

(B) IS 005: 1985

(C) 1S 884 :1985

(D) IS 084 : 1985
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120.

121.

122.

123.

124.

125.

223;

_ | YHRHIREdE |

(A) T

(B) =

©)

(D) =3

PASS TaiTeh ST ITTHh o Tl ST
I T T o foraen foram @

(A) T, tm, o4, @ica

(B) §i, WH, w156,

(C) fus, Us, Wres, ©

(D) 9, UH, W, =i

TS 98 % Fed o vaed oL g

(A) 16T T

(B) 20ufd fire

(C) 30 wfq fie

(D) 187fa fime
frafafaa # @ #v-u1 seemsfia @ 7
(A) CO, (B) CH,

(C) SO, (D) N,

ST T qeTagE S5 91g ° WS ©
(A) 120 (B) 50

(C) 10 (D) 100

U 506 § HE TS B

(A) 55¥ 65

(B) 85% 95

(C) 70¥ 80

(D) 90F 100

126.

127.

128.

129.

130.
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afe Sos Yo o Fea Tl I 1 AT9HTE &
57°C &, 4l Sed I T &

(A) e

(B) e

(C) At

(D) ¥4

¥, w1 quia: Sl S 8 3
Feal gOE WA © |
(A) wew ferft =1 sten
(B) gefta feft =1 srem
(C) =gy feit =1 s/erm
(D) T fouft =1 siem

Fr=fafas 9 @ #9191 v ey =
I & 7

(A) e o

(B) ®Eei/ATSw

(C) T=

(D) freem =z

el & fewsR g 7
(A) 100°C

(B) —100°C

(C) 0°C

(D) -10°C

A ¥ T4 arett wufies 3wER B A
% forg IS Faféweand €
(A) 1S 580 : 1985
(B) 1S 005 : 1985
(C) 1S 884 : 1985
(D) 1S 084 : 1985
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131.

132.

133.

134.

135.

Which is not a symptom of suffocation ?
(A) Restlessness; gasping for breath
and pulling his clothes etc.

Pulse gets faster and feebler
Face, lips, fingers, nails and toes
turn black in colour

Breath gets shorter and rate of
breathing increases

(B)
(©)

(D)

Provision for helipads should be made
for high-rise buildings above

(A) 60m

(B) 45m

(C) 50m

(D) 15m

Explosives of Trinitrotoluene is
equivalent to

(A) 1000 tonnes

(B) 500 tonnes

(C) 600 tonnes

(D) 900 tonnes

The power of a nuclear weapon is
measured in terms of

(A) kilograms

(B) quintal

(C) kilo-tonnes

(D) kilo-joules

procures, stores and distributes
Civil Defence equipment whenever
required.
(A) Rescue Service
(B) Supply Service
(C) Warden Service
(D) Welfare Service

136.

137.

138.

139.

10O 0 0 0O 0 0

Chlorine and phosgene belong to
this group which cause coughing and
choking

(A) Choking gases

(B) Blister gases

(C) Nose gases

(D) Nerve gases

Which of the following is a wrong first-aid
measure used to minimise the suffering
of the people exposed to gases ?

(A) Allow plenty of fresh air and keep
the casualty warm

If contamination by liquid is visible
on the skin, it should be washed
away gently with soap and water
Shouldn’t give artificial respiration
in case of breathing trouble

Give a hot sweet drink

(B)

(€)
(D)

will be in the Control Centre
and maintains Static Damage Map up-
to-date.

(A) Office Incharge

(B) Plotting Clerk — cum — Chart Writer
(C) Message Supervisor

(D) Intelligence Officer

is the most common method
of gas attack on civil population by
aeroplanes which contain bombs and
chemicals.
(A) Ground Burst
(B) Air Burst
(C) Aerial
(D) Nuclear Burst
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Which service keeps the Civil Defence
Services and vehicles in readiness, so that
they can be sent quickly to the required
places in case of emergencies ?

(A) Fire service

(B) Communication service

(C) Warden Service

(D) Depot and transport service

As per NBC, Institutional Occupancies
are classified under

(A) Group D (B) Group B

(C) GroupH (D) Group C

Golden rules of First Aid. Find the odd
one out.

(A) Be calm, quick and methodical
while treating a casualty and make
a note of all the major injuries and
give first aid without loss of time
Artificial respiration, if required,
should be given immediately as
every second counts

Clothes of a severely injured
casualty should be removed
immediately

Bleeding should be stopped
immediately

(B)

(C)

(D)

Second World War was fought between
(A) 1914-1918 (B) 1930-1942
(C) 1939-1945 (D) 1940-1945

This is a confidential and preliminary
message which forecasts the movements
of the raiders

(A) Action warning
(B) Special warning
(C) Preliminary caution
(D) Raiders passed

145.

146.

147.

148.

149.

150.

0O 000 0O 0

When is ‘Fire Services Day’ celebrated ?
(A) 14" April

(B) 4™ March

(C) 2" Qctober

(D) 18! January

Victim suffers from a disease called
‘Hydrophobia’ if he fears from

(A) Water

(B) Person

(C) Blood

(D) Bombs

Prevention of movement of the bony ends
is achieved by mechanical appliances
called

(A) Stunts
(C) Braces

(B) Splints
(D) Tubes

This extinguisher is specifically
recommended for metallic fires
(A) Dry Chemical Powder

(B) Water

(C) Foam

(D) CO,

What is the auto ignition temperature of
Propane ?

(A) 473°C
(C) 203°C

(B) 105°C
(D) 168°C

What is the purpose of installing a
hydrant ?

(A) To extinguish the fire

(B) To protect from chemical leakage
(C) To pump chemicals

(D) To protect from gas
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means taking in fresh air.
(A) Exhalation
(B) Inhalation
(C) Ingestion
(D) None of the above

While operating carbon dioxide, one
should not remain at the concentrated
place for a long time because

(A) He may puke

(B) He may lose memory

(C) He may become unconscious

(D) He may vomit blood

Why should we always crawl in a smoke
room to get out of it ?

(A) We may hit the wall

(B) We clash with others

(C) We may fall down

(D) Hot gases go up

Rescue operations depend upon
Method, Manpower and

(A) Equipment

(B) Fireman

(C) Rescuer

(D) Intensity

United Nations Organization was
formed on

(A) 14 Oct. 1945

(B) 24" Oct. 1945

(C) 4™ Oct. 1945

(D) 20 Oct. 1945

1586.

157.

158.

159.

160.

As per the Legislation relating to fire
safety/fire protection in India, Hazardous
Wastes (Management and Handling)
Rules were established in

(A) 1980
(B) 1959
(C) 1989
(D) 1948

Which of the following is not a toxic
Gas ?

(A) NHj

(B) Cl,

(C) SO,

(D) CgHg

Which of these is not a method of
artificial respiration ?

(A) Holger-Nielsen's method of artificial
respiration

Silverster’s method of artificial
respiration

Golderster's method of artificial
respiration

Mouth-to-mouth artificial respiration

(B)
(C)
(D)

Fire Fighting Service consists of
(A) House Fire Parties

(B) Casualty Service

(C) Warden Service

(D) Rescue Service

The components of fire hydrant system
does not consist of

(A) Water source

(B) Nozzles

(C) The hydrant or landing valve

(D) Dry chemical powder
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is the smallest unit of a
chemical compound which exhibits
the same chemical behaviour as the
compound.

(A) Atoms

(B) Electrons
(C) Molecule
(D) Nucleons

Which amongst the following is a
non-conductor of electricity ?

(A) Water

(B) Iron

(C) CO,

(D) Silver

Civil Defence Department was
created on

(A) 24t Oct. 1941

(B) 20" Oct. 1950

(C) 27'" Oct. 1943

(D) 22! Oct. 1951

means the entry and growth
of germs which multiply in the wound,
leading to serious consequences.
(A) Viral Flu
(B) Infection
(C) Decaying
(D) Contused wound

CO, gas is heavier than air.
(A) 1.2times
(B) 1.5times
(C) 0.7 times

(D) 0.5times

166.

167.

168.

169.

170.

Atomic particles means protons, electrons
and neutrons in which protons are

(A) positively charged

(B) negatively charged

(C) have no electrical charge

(D) neutrally charge

Sprinkler provides protection for
buildings from

(A) Oilfires

(B) External fires

(C) Internal fires

(D) Roof fires

Dry Pipe Fire Sprinkler Systems are used
in order to overcome the issue of

(A) to create pressure

(B) water freezing and leakages

(C) to save the electrical appliances
(D) to avoid corrosion of pipe

Evacuation Lift is used for the evacuation
of in a fire.

(A) Persons with disability

(B) Staffs

(C) Children

(D) Fire fighters

When was the Nuclear Explosion by
India at Pokhran Range in Rajasthan
done ?

(A) 18" May 1998
(B) 23 May 1998
(C) 13" May 1998
(D) 20" May 1974
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172.

173.

174.

175.

Which of the following doesn’t contribute
to the distinct stages in the lifecycle of
an uncontrolled fire ?

(A) Incipient

(B) Growth

(C) Fully developed

(D) Formation of ashes

A vertical pipe installed in a building
for fire-fighting purposes, that is
permanently charged with water from
a pressurized supply and fitted with
landing valves

(A) Wet rising main
(B) Dry rising main
(C) Foam system

(D) CO, installation

Why is the diesel driven pump used in

the fire hydrant system ?

(A) Itis cheap and best

(B) It creates high pressure

(C) Emergency backup in the event of
a power failure

(D) To save electricity

What is the chemical formula for Carbon

Monoxide ?

(A) CO,

(C) N,

(B) CO
(D) CH,

How do foam fire extinguishers
extinguish fire ?

(A) cooling process

(B) blanketing process

(C) Inhibiting process

(D) starvation process

176.

177.

178.

179.

180.

(1000 OO 0 O 0

is not a sign or symptom of
infected wound.

(A) numbness

(B) redness

(C) swelling

(D) formation of pus

Which is not a function of nozzles ?
(A) Control flow

(B) Increases pressure

(C) Provide reach

(D) Create shape

Which among the following content is
not found in a medium size of first aid
box ?

(A) Roller bandage

(B) Safety pins

(C) Femoral bandage

(D) Light wooden splints

Which is not a fixed fire extinguishing

system ?

(A) Automatic Sprinkler Installations

(B) Autornatic Water Spray Installations

(C) Automatic Deluge and Drencher
Installations

(D) Fire tenders

What is not done during fire-fighting in

Air Raids ?

(A) Keep all doors and windows closed

(B) Shout ‘Fire, Fire’

(C) Open the doors and windows of

room

Attack the fire immediately if it is

possible to do sowithout endangering

person safety

(D)
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181.

182.

183.

184.

186.

Foam Fire Extinguishers are effective
to extinguish fires involving

(A) electrical panels

(B) gas fires

(C) metal fire

(D) petrol

Which is not a nozzle type ?

(A) Solid bore nozzle

(B) Multi-purpose nozzle

(C) Adjustable gallonage nozzle
(D) Breeching nozzle

Fires involving inflammable gases are
(A) B Class Fires
(B) A Class Fires
(C) D Class Fires
(D) C Class Fires

When was the Petroleum Act passed ?
(A) 1934
(B) 1948
(C) 1947
(D) 1952

The Trailer Pump Parties are located
at the

(A) Home Guards

(B) Civil Defence Depots

(C) Rescue Depots

(D) Salvage Depots

186.

187.

188.

189.

190.

AR 0 O

are clean-cut wounds and
are caused by sharp objects like razors,
sharp tin edges, etc.
(A) Lacerated wounds
(B) Contused wounds
(C) Incised wounds
(D) Punctured wounds

‘D’ Class fires consists of

(A) Metallic fires

(B) Inflammable gas fires

(C) Carbonaceous material fires
(D) Alcoholic fires

Richter scale is used to measure
intensity of

(A) Earthquake

(B) Wind

(C) Tornado

(D) Rains

indicates that the raiding
aircraft are heading towards certain
towns which may be attacked within a
few minutes.
(A) Preliminary Caution
(B) Cancel Caution
(C) Riders Passed
(D) Action Warning

is generally on account
of injury or wound, through any part of
the body, which is visible.
(A) External bleeding
(B) Internal bleeding
(C) Femoral bleeding
(D) Haemorrhage
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191.

192.

193.

194.

195.

Inergen - IG — 541 consists of N,,, Argon
and CO,. What is the % of N, in it ?
(A) 50% (B) 52%

(C) 47% (D) 25%

The body of the extinguisher is
hydraulically tested at

(A) 160 kgs per sq. inch

(B) 70 kgs per sq. inch

(C) 50 kgs per sq. inch

(D) 180 kgs per sq. inch

Which is not the sign and symptom of
inhalation of poisonous gases ?

(A) The casualty appears uneasy and
blue

Respiration process appears to
slow down

Over doses may result in shock and
there is a possibility of death also

Pulse rate increases

(B)
(C)
(D)

Why are extinguishers called portable

first aid extinguisher ?

(A) Can be used for first aid

(B) Itis available in first aid box

(C) Carried easily from one place to
another

(D) Can be used for large scale fire

Which knot is used to join two ropes of
unequal thickness ?

(A) Half hitch

(B) Single sheet bend

(C) Figure of eight knot

(D) Clove hitch

196.

197.

198.

198.

200.

Factories Act 1948 as amended in
(A) 19865 (B) 1987
(C) 1947 (D) 1950

What is to be done in case a person's
clothes catch fire ?

(A)
(B)

Immediately remove the clothes
Should not touch the affected
person for chances of transfer to us
Covered with a blanket and made
to roll down on the ground

(©)

(D) Call fire brigade

Flame detectors are designed to
respond to

(A) Smoke produced in a fire

(B) Heat produced in a fire

(C) Radiant energy produced in a fire
(D) Fume produced in a fire

Primary shock is also called as
(A) Nerve shock

(B) Intense shock

(C) First shock

(D) Body pressure

Smothering process means
(A) Removal of Heat

(B) Removal of Oxygen
(C) Removal of Fuel

(D) Baking Chain Reaction
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F Fad & ¢

(A) mufE IR F o ygm fFu s
TFd &

(B) = Wrifiieh 9= o H 39¢Ted B &

(C) U TAW H TR T T HAH A A
ST T Hehel &

(D) =T i 31 B w3 51 wRd €

A AT i a1 e il e & o
e 7113 =1 @ R S R ?

(A) =% fem

(B) fimre viie sis

(C) T 311 vz qie

(D) i fe=

196.

197.

198.

199.

200.
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FREM AT 1948 q
geiiferg foram |
(A) 1965
(C) 1947

(B) 1987
(D) 1950

U SAfe o ISl ° AT o 9T

ST =R ?

(A) ia 7= g feu sl

(B) BH TATTANG B o FIGL 2g THIET
famt &t T8 g =y

(C) U Fued ¥ BT FTTeY 3 S W
e =nfen

(D) W fores get arfe

T G =+ afafEn = &+
o s Sma £ |

(A) T T H IT Y

(B) U 31T H 3T FHET

(C) = A H Ieq fafemor w=i

(D) T AT H I A

Trafiys e oft FEerrar # |
(A) dfEER maTa

(B) TEA HATET

(C) " TG

(D) ST gE

et fsea 1 319 2
(A) ST B2

(B) ATFHISH &M

(C) $ud e

(D) sfEF HEen sifufw
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iefigani & fere wevagul s

13. 39 qfSr § 40 99 21

13.

14.

15.

17.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
cormrectly answersthe question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrang Method

O®00

Wrong Method

0800

Wrong Methpd
el lelo)

Correct Mathod|

@l Xejie

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
inthis Booklet. All answers must be indicated
in the Answer Sheet only.

14.

15.

16.

17.

18.

19.

Few : v WA Y wEE I FYE % 6
IR I AT T B G T E | AT g
§ 7t forelt v &6t g 2 1 w9 1 wE I
2 AYET HYH ] G0 B 3 9] I A
I9GH MR @H A, B, C a1 D =1 =Hien 91 Fie
Aie-ise 99 & Fen (@) Fo 7 | (gfRanfim
Iufizani & fau 9w meen @ gm
et feen <)

W T % A 3 g9 0 foreee e s
I o | Fa @ T B8 e 9 Rl ==t
e s adm fRtm 2 |

e Al
O®00

T A

0800

e il

O®00

e lnrica
Oe00

] F1 I IR AFIEE A fa=ER 6 90
faf=q +en =ifeg |

T WO 1 hadl Uh & HEl I 2 | I
wyfaa Hiem 31iq A, B, C 91 D & Tiiensr @
%! wen (@) F 2 | 3fe 3m Rty % g
U H ATYF MABR TH F G001 (@) 7 A9
Equgiccieicige o il

Ffe forelt W & T awr 30T saR o
IR R A S A F A T wEen S |

Hed H1Y o 100 Fad 994 73 4 G0 W =m @
TR i | I s W wE T

70 i 3 R I I iR T FE € |
T Fae T A H # E)

Go through instructions given in Page No. 1 (Facing Page)
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